12
12
( )
31
311
12
2543]44 6/
2,595 38.73
! 115
2- 3
1 63.24 i 2941
750
2-3
1
1 11 4
21
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2542

2542
2542
2542
2542

60

2542

21

315
340
135
40
55
945

25

16

0.3968
0.3598
0.1429
0.0423
0.0582
1.0000

(25

15%

85.71

3
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3.3
1-8
20-40
21
!

()

60

395

65

305

825

13%-15% (

(1)
0.0727
0.4788
0.0788
0.3697

19.05
80.95

0.5515

0.4485

1

)
3.1362

17.8916

36
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!
4 0.5515 0.5515
3.7362
4 0.4485 0.4485
17.8916 2
!
Paddy for sale
v v v
Group 1 Group 2 Group 3
v v
Stock4week Stock18week
v v v v
Part 1 Part 2 Part 1 Part 2 !
Paddy for sale =
Group 1 z
Group 2 =
Group 3 =
Stockdweek = 4
Stock18week = 18
Part 1 =
Part 2 =
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Groupl

3.

(Groupl)
(Group3)
Parti
Part2
2

(Group2)

Main

41

Main

2 Main

InvT

Group3

Main
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Declslond
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Drying_Raoa
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Main

4 Main

Main

3.3

3.3.1 1

Rent_farm Paddy_for_rent
Area_farm =

Harvest_paddy

Harvest \farm Padd _for_sale

Planting_farm

Paddy_for_seed
Percentharvest

12 1

43



12
2
)
12
25%
63.24
60
2500

v ] .
Fnsrdauiuiniuinen
0:q -

i

2542

44

61
29.41 750

13

0.08 {¥——-———"

0.06 -

0.04 -

0.02

0 -

12 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22

13

2542



Percent_harvest

Area_farm
Harvest_farm
Plantingfarm
Harvest_paddy
Paddy per rai

Percent_harvest
Area_farm
Harvest_farm
Planting_farm
Harvest_paddy
Paddy per rai

25

60

45

= GRAPH (Time, 0,1, [0.0792,0.0924,0.0924,0.0924,0.0811,
0.0811,0.0741,0.0322,0.0322,0.0322,0.0162,0.0099,0.0099,

0.0099,0.0113,0.0131,0.0131,0.0131,0 "Min: O;Max: 1]

=259%

= (Area_farm*Percent_harvest)+DELAYPPL(Planting_farm,16,0)

= DELAYPPL (Harvest_farm,5,0)
= Harvest_farm*Paddy per rai
=0.75

(00025 / 2.5

(006 [ 6

29

62

2
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8

() ()

445 0

125 50

0 325
570 375
0.6032 0.3968
8 60.32
39.68
600 (0.6 60 )
3,
20% - 25%

( )
Paddy for_seed = Harvest_farm*0.025
Paddy _for_rent = Rent_farm* 0.06
Rent_farm = Harvest_farm* 0.6032
Paddy for sale = Harvest farm- Paddy for seed- Paddy for rent
Paddy for seed = ()
Paddy for rent = ()
Rentfarm = ()

Paddy for sale = ()



14

14

()
120

825

945

2

(1)
0.1270
0.8730

4

)
Inventory_ratia

Price_suddenly_ssle

19.05
80.95

0.1270
0.8730
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)
(Groupl)
9
0.1276
Group_1 = (Paddy_for_sale * Drying_ratio(Groupl)+
Paddy for_sale* Inventory to drying_Ratio)
Group 1 =
58,
Drying_ ratio(Groupl) =
(1)
| ventory to drying Ratio =
(1)
2)
(Group2)
9
0.8730
2

. 4 (Stockdweek)
2, 18 (Stock18week)
10
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10
(1) (/)
Stock4week 0.5515 0.4815
stock | 8week 0.4485 0.3915
1 0.8730
10
4 0.4815
18
0.3915

Sub_group_2(Stock4week)
b_group_2(Stock18week)

Paddy_for sale* Inventory _ratio(Stock4week)
Paddy for_sale* Inventory_ratio(Stock18week)

Group_2 = b_group_2(Stockdweek)+Sub_group_2(Stock18week)
b_group_2(Stockdweek) =

‘ ()
b_group_2(StockL8week) =

18 ()
Group2 -

()

Inventory_ratio(Stock4week)

Inventory_ratio(Stock18week)
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1012.12 0.75
1
1
Group2  Stockdweek  stockl Bweek
() 825 445 370
() 835000 530000 305000
(/) 10121212 1164.8352  824.3243
(/) 13494950 15531136  1099.0991
1
1349.4950
4
18
(Parti )
Part_1(Stock4week) = (Cost_per_ton*Group_2(Stock4week))/
Price_suddenly sale
Part_1(Stock18week) = (Cost_per_ton*Group_2(Stock18week))/

Price_suddenly sale
Cost_per_ton(Stock4week) = 1553.1136
Cost_per_ton(Stock18week) = 1099.0991



Part 1 (Stockdweek)

4 ()
Part_1 (Stockl 8week) =
18 ()
Cost_per_ton(Stockdweek) =
4
(1)
Cost_per_ton(Stock18week) =
18
( S
Price_suddenly sale =
(1)
( Part2 )
( Group2 )
( Parti )
Part_2(Stock4week) =Group_2(Stock4week)-Part_1(Stock4week)

Part_2(Stock18week) =Group_2(Stock18week)-Part_1(Stock18week)8

Part_2(Stockdweek) =
4
Part_2(Stock18week) =
18

51



Group_3

Group_3

52

X (Groy
( Group3 )

1

(Groupl )
2

(Part2 )
3

(Parti )

= Paddy_for sale-Group 1-Part 2(Stock4week)-Part 2
(Stock18week) - (Part_1(Stockdweek)*Drying_ratio
(Stockdweek)) - (Part i (Stockl 8week)* Drying_ratio
(Stock 18week))

: ()

Drying_ratio(Stockdweek) =

Drying_ratio(Stock18week) =

18 ()
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3.3.3 3

Solar_rate

Net_income_drying_per_ton

15 3
15
4
L
2,
3.



(Groupl )
(Parti)
(Group2)

P PaddyGroup

Groupl
Stock4week

4 (
Stock18week

18

Paddy_drying(Group 1) = Groupl
Paddy_drying(Stockdweek) = Part_1*Drying_ratio(Stock4week)
Paddy_drying(Stock18week) = Part_1*Drying_ratio(Stock18week)

Paddy_drying(Group 1)
()

Paddy_drying(Stock4week)

Paddy_drying(Stock18week)

18 ()

o4
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= (100 - % ) X
(100 - % )
15%
Paddy after_drying(Groupl) = ((100-Harvest_moist)*Paddy_drying(Groupl )/
(100-15)
Paddy after drying(Stockdweek) = ((100-Harvest_moist)*Paddy_drying
(Stock4week)/ (100-15)
Paddy_after_drying(Stock18week) = ((100-Harvest_moist)*Paddy_drying
(Stockl 8week)/(100-15)
Paddy_after_drying(Groupl ) =
()
Paddy after drying(Stockdweek) =
4

Paddy after drying(Stock18week)

18 ()
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5000

15%
2544

15%
15%

16 (

56

2542

4000 |—

3000

2000 —

1000

15%
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15%
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Income_drying(Groupl) = Paddy_after_drying(Groupl )*Price_15 percent
Income_drying(Stockdweek) = Paddy after _drying(Stockdweek)*Price 15 percent
Income_drying(Stock18week)= Paddy after drying(Stock18week)*Price_15 percent
Price_15 percent = GRAPH(TIME, 1,5500,5000,5100,5000,4900,4700,4400,
4400.4400.4500.4500.5000.5000.5000.5200.5400.5300,
5300.5200.5200.5500.5500.5500.5400.5400.5400.5300,
5000.5000.4900.4900.4500.4500.4500.4650.4650.4500,
4500,4800,5000,5000,5000,4500,4500,4800,4800,4900,
4800.4800.4900.5000.5000.5100.5000.4750.4800.4500,
4500,4500,4200,4000,3500,3600,4000,4000,4000,4000,
4200,4100,4000,4000,4000,4000,4200,4200,4100,4100,
4100.4100.3600.3800.3800.4200.4400.4300.4500.4500,
4500,4300,4300,4300,4300,4300,4400,4300,4300,4200,
4300,4400,4400,4500,4500,4500,4200,4200"Min:0;Max:

6500"] )
Income_drying(Groupl) =
()
Income_drying(Stockdweek) - =
4 ()
Income_drying(Stock18week) =
18 ()

Price 15 percent % ()
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Income_drying_per_ton(Group?) = |F(Paddy_drying(Group1)=0,0, Outcome_drying
(Groupl)/Paddy_drying(Groupl))

Income_drying_per_ton(Stock4week) = IF(Paddy_drymg(Stock4week)=0,0,0utcome_
drying(Stock4week)/Paddy_drying(Stock4week))

Income_drying_per_ton(Stock18week) = IF(Paddy_drying(Stock18week)=0,0,0utcome
drying(Stock18week)/Paddy drying(Stock18week))

Income_drying_per_ton(Groupl )

(1)

Income_drying_per_ton(Stock4week) =

Income_drying_per_ton(Stock18week) =

18 (1)

DR-6L
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DR-6L 1
12
(Yowb) 1)
16-20 150
21-25 200
26-30 250
30 300
12

Cost_of drying_sv1(Group 1) = Paddy drying(Group_1)*Cost of drying_per ton

Cost_of drying_sv1 (Stockdweek) = Paddy_drymg(Stockdweek)*Cost_of drying_per ton

Cost_of drying_sv1 (Stock18week) = Paddy_drying(Stock18week)*Cost_of drying_per ton

Cost_of drying_per ton = |F(Harvest_moist<=20,150,1F(Harvest_moist<=25
200,250))

Cost_of drying_sv1 (Group 1)

Cost_of drying_sv1(Stock4week)

()
Cost_of drying_sv1 (Stockl 8week)=

18

Cost_of drying_per ton = (1)
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12 ( )
21
40

20
1.5

0.76

Cost_farm_to silo_sv1 (Group_1) = ((Times_sv1 (Groupl)*0.76*2)/10)*Solar rate
Cost_farm_to_silo_sv1 (Stock4week) = ((Times_sv1 (Stockdweek)*0.76*2)/10)*Solar rate
Cost_farm_to_silo_sv1 (Stockl 8week)= ((Times_sv1 (Stockl 8week)*0.76*2)/10)*Solar rate

Times_sv1 (Groupl) = CEIL(Paddy_drying(Group1)/0.4)
Times_sv1(Stock4week) = CEIL(Paddy_drying(Stock4week)/0.4)
Times_sv1 (Stockl 8week) = CEIL(Paddy drying(Stock18week)/0.4)
Solarrate =13

Cost_farm_to silo_sv1(Groupl)

Cost_farm_to_silo_sv1(Stock4week) =

Cost_farm_to_silo_sv1 (Stockl 8week)=

18 ()



Times_sv1 (Group1) =

()
Times_sv1 (Stockdweek) =
& ()
Times_sv1 (Stockl 8week) =
N,
Solar rate = )
100
10 21
100

Cost_silo_to_market sv1 (Group 1) = Paddy drying(Group_1)*Cost_rent_truck
Cost silo_to_market sv1 (Stockd4week) = Paddy drying(Stock4week)*Cost_rent_truck
Cost_silo_to_market_sv1 (Stockl 8week) = Paddy drying(Stock18week)*Cost_rent_truck
Silo_to_market = 100

Cost_silo_to_market_sv1 (Group_1) =

()

Cost_silo_to_market_sv1 (Stockdweek) =

61



Cost_silo_to_market_sv1 (Stockl 8week) =

Costj-entJruck =

Total_cost_paddy_drying(Group_1) = Cost_of drying_sv1(Groupl)
+Cost_fram_to silo_sv1 (Group 1)
+Cost_silo_to_market_sv1 (Groupl)

Total_cost_paddy_drying(Stock4week) = Cost_of drying_sv1 (Stockdweek)

+Cost_fram_to_silo_sv1(Stockdweek)
+Cost_silo_to_market_sv1(Stockdweek)

Total_cost_paddy_drying(Stock18week) = Cost_of drying_sv1 (Stockl 8week)

+Cost_fram_to_silo_sv1 (Stockl 8week)
+Cost_silo_to_market_sv1 (Stockl 8week)

Total _cost_paddy_drying(Group 1) =

Total_cost_paddy_drying(Stockdweek) =

62
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Total_cost_paddy_drying(Stock18week) =

18 ()

Total_cost_paddy drying_per ton(Group 1) = IF(Paddy drying(Group1)=0,0,Total cost_
paddy_drying(Group_1)/Paddy_drying
(Groupl))

Total_cost_paddy_drying_per_ton(Stockdweek) =IF(Paddy drying(Stock4week)=0,0, Total_
cost_paddy_drying(Stockdweek)/
Paddy_drying(Stock4week))

Total_cost_paddy_drying_per_ton(Stock18week)=IF(Paddy_drying(Stock18week)=0,0,
Total_cost_paddy_drying(Stock18week)/
Paddy _drying(Stock4week))

Total cost_paddy drying_per ton (Group_1)

(1)

Total_cost_paddy drying_per ton (Stock4week)

Total cost paddy drying per ton (Stock18week)=
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18

NetJncome_drying_per_ton(Group_1) = Income_drying_per_ton(Groupl)-
Total_cost_paddy per_ton(Groupl)

Net_income_drying_per_ton(Stockdweek) = Income_drying_per_ton(Stock4week) -
Total cost_paddy per ton(Stock4week)

Netincome_drying_per_ton(Stock18week) = Income_drying per ton(Stock18week) -
Total_cost_paddy_per_ton(Stock18week)

Netincome_drying_per_ton (Group_1)

Net_income_drying_per ton (Stock4week)

Net_income_drying_per ton (Stockl 8week) =

18 ()
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334 4

Net_income_invertory_per_ton

Solar_rete

17 4
17



(Part2) 2
18
InventoryTime
Stock4week 4
Stock18week 18
15%
Inventory_paddy(Stockdweek) = ((100-Harvest_ moist)*Part_2(Stock4week)
/(100-15)
Inventory paddy (Stock18week) = ((100-Harvest_moist)*Part_2(Stock18week)
/(200-15)
Inventory_paddy (Stockdweek) =
4 ()
Inventory_paddy (Stock18week) =
18 ()
2)
2



(' ventory_time)
(Pricejnventory)
(V)

15%

6/

Income_inventory(Stockdweek) —=Inventory_paddy(Stock4week)*Price_when_inventory
Income_inventory(Stock18week) =Inventory paddy(Stock18week)*Price_when_inventory

Price_inventory(Stockdweek) =0

Price_inventory(Stock18week) =0

IncomeJnventory(Stock4week) = 4
(T}

IncomeJnventory(Stock18week) = 18
()

Price_inventory(Stockdweek) = 4

Max_price_stockdweek
(1)

= 18

PriceJnventory(Stock 18week)
Max_price_stock18week

(1)
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Incomednventory per_ton(Stockdweek) =IF(Part_2(Stock4week)=0,0, Outcome

inventory(Stock4week)/(Part_2(Stockdweek))
Incomednventory per ton(Stock18week) =IF(Part_2(Stock4week)=0,0, Outcome

inventory(Stock18week)/(Part_2(Stock18week))

Income_inventory_per_ton(Stockdweek) =

IncomeJnventory_per_ton(Stock18week) =
18 ( 1)

Cost_of drying_sv2(Stock4week) = Part_2(Stock4week)*Cost_of drying_per ton
Cost_of drying_sv2(Stock18week) = Part_2(stock 18week)*Cost_of drying_per ton

Cost_of_drying_sv2(Stock4week) =

4 ()
Cost_of drying_sv2(Stock18week)=

B ()

50 [



69

CostJnventory(Stockdweek) = Inventory_paddy(Stockdweek)*Costnventory per ton

Cost inventory(Stock18week) = Inventory_paddy(Stock18week)* Costinventory perJon

Cost_inventory per ton = IF(InventoryJime<=4,50,IF(InventoryJime<=8,100,IF
(InventoryJime<=12,150,IF(InventoryJime<=16,200
250))

Inventory_time(Stockdweek) =0

Inventory_time(Stock18week) =0

Costjnventory (Stockdweek) =

4 ()
Costjnventory (Stock18week)=
18 ()
CostJnventory_perJon = ( 1 )
InventoryJime(Stockdweek) =
4
InventoryJime_stock4week Invt ( )
InventoryJime(Stock18week) =
18
InventoryJime_stockdweek Invt ( )
2
12 ( )
2

Cost farmJo_silo_sv2(Stock4week) = ((Times_sv2(Stock4week)*0.76*2)/10)*Solar rate
CostJarmJo_silo_sv2(Stock18week)=((Times_sv2(Stock18week)*0.76*2)/10)*Solar rate
Times_sv2(Stock4week) = CEIL(Paddy_drying(Stockdweek)/0.4)
Times_sv2(Stock18week) = CEIL(Paddy_drying(Stock18week)/0.4)



Cost_farm_to_silo_sv2(Stockdweek) =

4 ()
Cost_farm_to_silo_sv2(Stock18week)=
18 ()
Times_sv2(Stockdweek) =
4 ()
Times_sv2 (Stock 18week) =
18 ()
100

Cost_silo_to_market_sv2(Stockdweek) = Part 2(Stockdweek)*Cost_rent_tmck
Cost_silo_to_market sv2(Stock18week) = Part 2(Stock18week)* Cost_rent truck

Cost_silo_to_market_sv2(Stock4week)

4 ()
Cost_silo_to_market_sv2(Stock18week) =
18 ()
= +
+ +

Total_cost_paddyJnventory(Stockdweek) = Cost_of drying_sv2(Stockdweek)
+Cost_inventory(Stock4week)
+Cost_fram_to_silo_sv2(Stockdweek)
+Cost_ ilo_to_market sv2(Stockdweek)

Total_cost_paddy_inventory(Stock18week) = Cost_of drying_sv2(Stock18week)
+Cost_inventory(Stock18week)

0



+Cost_fram_to_silo_sv2(Stock18week)
+Cost_silo_to_jnarket_sv2(Stock18week)

Total_cost_paddy _ inventory(Stockdweek) =

Total cost_paddy_inventory(Stock18week) =
B ()

Total_cost_paddy_inventory per ton(Stock4week) =IF(Part_2(Stock4week)=0,0,Total
cost_paddyJnventory(Stock4week)/
(Part_2(Stockdweek))

Total_cost_paddy inventory per_ton(Stock18week)=IF(Part_2(Stock18week)=0,0,Total
cost_paddyJnventory(Stock18week)/
(Part_2(Stock18week))

Total_cost paddy_inventory per_ton(Stock4week) =

(1)
Total_cost_paddy_inventory_per_ton(Stock18week)=
18



12

Net_income_inventory per ton(Stockdweek) ~=Income_inventory per_ton(Stockdweek)
-TOtal cost_dryi gperto (Stockdweek)

NetdncomeJnventory per_ton(Stock18week) =Income_inventory per tonStock(18week)
-TOtal_cost_drying_per ton(Stock 18week)

NetJncome_inventory per_ton(Stockdweek) =

Netjncomejnventory per_ton (Stock18week)=
18 ( 1)



335 5

Income_suddenly_sale

Differ_price

18 5

18

(Group3)

2542 2544
1 ( )



/e 4

ANTutawaen (%)

24.00

23.00

22.00 +

21.00

20.00 ¢

19.00

18.00

13 5 7 9 10 13 15 17 19 21 23 25 27 29 31 33 35 37 39 41 43 45 47 49 51

19
2542 2544

19
23.5% 15 25 20%

15 %
1% 15

- 15% X (1- (0.015 X( - 15))

Price_suddenly sale = (1-(0.015*(Harvest_moist-15)))*Price_15 percent
Outcome_suddenly sale = Group3* Price_suddenly sale
Differ_price = Price_suddenly sale- Outcome_suddenly sale



Harvest_moist = GRAPH(Week,1,1,[20,21,21,21,21,21 212122 22,22 22 22
22,23.5,23.5,23.5,23.5,23.5,23.5,23.5,23.5,23.5,23.5,23.5,
22.5,22.5,22.5,22.5,22.5,22.5,22.5,22,22.5,22.5,21.5,21.5,
22.17,22.17,21.67,20.67,20.67,20.67,20.67,20.67,21.33,
21.33,22,21.67,20.67,20.33,20.33"Min:0;Max:25"])

Week 1 year = IF(TIME<=52, TIME,IF(TIME>=53 AND TIME <= 104,
TIME-52, TIME-104))
Price_suddenly sale =
(1)
Income_suddenly sale =
()
Differ price =
(1)
Flarvest moist =
(% )

Week =

100

Net_income_suddenly sale_per ton = Price_suddenly_sale-Cost_rent_truck
Net_income_suddenly sale Group3*Net_income_suddenly sale per ton

Net_income_suddenly sale per_ton

()
()

Net_income__suddenly sale

&)



16

3.3.6 0
6
2
0.1270
0.8730
4 0.5515 18
0.3915 13
13
(Group2) (Group3)
4 18
(Groupl) (Stockdweek) (Stock18week)
0.1270 0.4815 0.3915 0
2
1 (Servicel :sv1)

2, (Service2 : sv2)



Net_income_drying_per_ton

S Drying_dec
Delgy_drying_differ

etay_season
Season

P Nt Drying_ratio
Deing_rate_sun

(Parti)

18
P PaddyGroup



8

Differdncome_drying(Group_1) = IF(NetJncome_drying_per_ton(Group1)=0,0,
Net_income_drying_per_ton(Groupl) -
Net_income_suddenly sale per ton(Groupl))

DifferJncome_drying(Stock4week) = IF(Netincome_drying_per_ton(Stock4week)=0,
0,NetIncome_drying_per_ton(Stock4week) -
NetJncome_suddenly sale per ton(Stockdweek))

Differ_income_drying(Stock18week) =IF(Netincome _drying_per_ton(Stock18week)=0,

0, Net income drying_per_ton(Stock18week) -
Net_income_suddenly sale per ton(Stock18week))

DifferJncome_drying(Group 1) =

1)
Differ_income_drying(Stockdweek) =

Differ_outcome_drying(Stock18week)=

18

21

Delay drying_differ(Groupl) = DELAYPPL(DifferJncome_drying(Groupl),21,0)
Delay_drying_differ(Stockdweek) = DELAYPPL(Differ_income_drying(Stock4week),21,0)
Delay_drying_differ(Stock18week)=DELAYPPL (Differ_income_drying(Stock18week),21,0)

Delay drying_differ(Groupl) =

(1)



Delay_drying_differ(Stock4week) =

Delay_drying_differ(Stock18week) =

200
25

95.60

200
24.32
14

14

4
(1)
18
(1)
2
0.1270
9
15 300
(Parti)
200
300 4.40
18
75.68 300
Groupl Parti (Stockdweek)  Part(Stock18week)

200 300 200 300 200 300
075 025 09560  0.0440 07568  0.2432



14 300
200 300
15
Groupl 95.30 Parti(Stock4week)
75.68 Parti(Stock18week)

Drying_decision 1(Groupl) = IF(Delay drying_differ(Group1)>=300,1,1F

(Delay drying _differ(Groupl )>=200,0.75,0)
Drying_decision_1 (Stockdweek) = IF(Delay_drying_differ(Stock4week)>=300,1,

IF(Delay_drying_differ(Stock4week)>=200,0.9560,0)
Drying_decision_1 (Stockl 8week)= IF(Delay_drying_differ(Stock18week)>=300,11

IF(Delay_drying_differ(Stock18week)>=200,0.7568,0)
Drying_decision_2(Groupl) = IF(Delay drying_differ(Group1)>=200,1,0)
Drying_decision_2(Stockdweek) = IF(Delay_drying_differ(Stock4week)>=200,1,0)
Drying_decision_2(Stock18week)=IF(Delay drying_differ(Stock18week)>=200,1,0)

Drying_decision_1(Groupl) =

==
Drying_decision_1(Stock4week) =
4
(1)
Drying_decision_1 (Stockl 8week)=
18
(1)

Drying_decision 2(Groupl) =



(1)
Drying_decision_2(Stockdweek) =
4
(1)
Drying_decision_2(Stock18week)=
18
NS

Season = IF(TIME<=132,IF(TIME<=35,1 ,IF(TIME<=66,2,IF(TIME<=88,1,2))))
Delay season = DELAYPPL(Rain,21,0)

Season = 1 2

Delay season =

Time = 1105 1 105



Drying_rate_rain(Groupl)

Drying_rate rai (Stockdweek)

Drying_rate_rain(Stock18week)

Delay drying_rate_rain(Groupl)

Drying_rate_rain(Group?)

Drying_rate_rain(Stock4week)

IF(TIME>=14 AND <=34,0.1270,IF(Delay _
seasonal 1(IF(Delay_drying_rate_rain(Groupl)
=0.1270, Drying_decision_1(Groupl), Decision_2
(Groupl)) *Delay_drying_rate_rain(Groupl ),
Delay_drying_ rate_rain(Groupl)))

IF(TIME>=14 AND <=34,1 ,IF(Delay_season=1,
(IF(Delay drying_rate_rain(Stock4week)=0,
Drying_decision_1(Stock4week),Decision 2
(Stockdweek))*Delay_drying_rate_rain
(Stockdweek), Delay drying_rate rain
(Stockdweek)))

IF(TIME>=14 AND <=34,1,IF(Delay_ season =1,
(IF(Delay_drying_ rate_rain(Stock18week)=1,
Drying_decision_1 (Stockl 8week),Decision 2
(Stock18week))*Delay drying_rate rain

(Stockl 8week), Delay drying_rate_rain

(Stockl Bweek)))

= DELAYPPL(Drying_rate_rain(Groupl),21,0)
Delay drying rate_rain(Stockdweek) = DELAYPPL(Drying_rate_rain(Stockdweek),21,0)
Delay drying rate_rain(Stock18week) = DELAYPPL(Drying_rate_rain(Stock18week),21,0)



Drying_rate_rain(Stock18week) =

18
(1)
Delaydrying_rate_rain(Groupl) =
(/1)
Delay drying_rate_rain(Stockdweek) =
4
NN
Delay drymg_rate rain(Stock18week) =
18
{ 14
*
Drying_rate_  (Groupl) = IK(TIME<=13 OR (TIME>=36 AND TIME<=42)

OR TIME=56,0.1270,IF(Delay _ season =2,
(IF(Delay drying_rate_sun(Group1)=0.1270,
Drying_decision 1 (Groupl ),Decision_2(Groupl))
*Delay drying rate_ (Groupl), Delay drying_
rate_sun(Groupl)))



&

Drying_rate_ (Stockdweek) IF(TIME<=13 OR (TIME>=36 AND TIME<=42)
OR TIME=56,1,IF(Delay_season=2,(IF(Delay _
drying_rate_rain(Stockdweek)=11Drying_decision
_1(Stocka4week),Decision_2(Stock4week))*
Delay drying rate_ (Stockdweek),

Delay drying_rate_sun(Stockdweek)))

Drying_rate_sun(Stock18week) IF(TIME<=13 OR (TIME>=36 AND TIME<=42)
OR TIME=56,1,IF(Delay _ season =2,(IF(Delay_
drying_rate_rain(Stock18week)=1,Drying_decision
_1(Stockdweek),Decision_2(Stock18week))*
Delay drying_rate_sun(Stock18week),

Delay drying_rate_sun(Stock18week)))

Delay drying rate (Groupl) = DELAYPPL(Drying rate  (Groupl),21,0)

Delay drying rate (Stockdweek) = DELAYPPL(Drying rate  (Stockdweek),21,0)

Delay drying_rate  (Stockl 8week) = DELAYPPL(Drying rate  (Stockl 8week),21,0)

Drying_rate_ (Groupl)

Drying_rate_sun(Stockdweek)

Drying_rate (Stockl 8week)



Delay drying_rate_ (Groupl) =

(1)
Delay drying_rate_sun(Stockdweek) =
4
(1)
Delay_drying_rate_sun(Stock18week) =
18
(1)
Drying_ratio(Groupl) = |F(Season=1,Drying_rate_rain(Groupl),Drying_rate_
(Groupl))

Drying_ratio(Stockdweek) = IF(Season=1,Drying rate_rain(Stock4week),
Drying_rate_sun(Stockdweek))

Drying_ratio(Stock18week) = IF(Season=1,Drying_rate_rain(Stock18week),
Drying_rate_sun(Stock18week))

Drying_ratio(Group? )

(1)
Drying_ratio(Stockdweek) =



Drying_ratio(Stock18week) =

18 (1)

Net_income_inventory_per| ton N ; "@

Drying_retio

21 6
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I InventoryTime

DifferJncome_inventory(Stockdweek) = IF(NetIncome_inventory_per_ton(Stock4week)
0,0,NetIncomeJnventory_per_ton(Stock4week)
-Net_income_ ddenly sale per ton
(Stock4week)

Differncome_inventory(Stock18week) =IF(Netincomelnventory per ton(Stockl 8week)
0,0,Netincome_inventory per _ton(Stock18week)
-Net_income_  ddenly sale per ton
(Stock4week)

DifferJncomednventory(Stockdweek) =

Differ_income_jnventory(Stock18week) =

21

DelayJnventory_differ(Stockdweek) =DELAYPPL(DifferJncome_inventory(Stockdweek),
21,0)

Delay inventory_differ(Stock18week)=DELAYPPL(Differ_income_inventory(Stock18week)
21,0

Delay_inventory_differ(Stock4week) =

(1)



Delay _inventory differ(Stock18week)=

18
1)
2
87.30 9
4 48.15
18 39.15
200 83.52
500 16.48
4 18
200 2297 500
77.03
15
15

Part2 (Stockdweek)  Part2 (Stock18week)
() 200 500 200 500
08352 01648 02297  0.7703

(1)
15 500
200
500 83.52
Part2(Stock4week) 2297
Part2(Stock18week)

Inventory_decision_1(Stock4week) = 1F(Delay_ Inventory _differ(Stock4week)>=500,1,
IF(Delay _ Inventory_differ(Stockdweek)>=200,
0.8352,0)



&

Inventory _decision_1(Stock18week)=IF(Delay Inventory _differ(Stock18week)>=500,11
IF(Delay_ Inventory_differ(Stock18week)>=200,
0.2297,0)

Inventory _decision_2(Stockdweek) = IF(Delay_ Inventory _differ(Stockdweek)>=200,1,0)

Inventory _decision_2(Stock18week)=IF(Delay_ Inventory _differ(Stock18week)>=200,1,0)

Inventory_decision_1 (Stockdweek) = 4
(1)
Inventory _decision_1 (StockI8week)= 18
=)
Inventory _decision_2(Stockdweek) = 4
(1)
Inventory _decision_2(Stock18week)= 18
(1)
2
80
10 (
)
Harvest = IF((TIME<=18 OR ( TIME>=36 AND TIME<=48) OR (TIME>=53 AND

TIME<=70) OR ( TIME>=88 AND TIME <=101)),1,2)
Delay_harvest = DELAYPPL(Harvest,21,0)



Harvest =
1
2
Delay harvest = l
1
Inventory rate_much(Stock4week) =|F(TIME<=18 OR (TIME>=40 AND TIME

<=42),0.4815 |IF(Delay_harvest=1,(IF
(Delay inventory rate r uch(Stockdweek)
=0.4815,Inventory_decision_1 ,Inventory
decision_2)*Delay_inventory rate_much),
Delay _inventory_rate_much))

Inventory_rate_much(Stock18week) = |F( TIME<=18 OR (TIME>=40 AND TIME
<=42),0.3915 ,IF(Delay_harvest=1,(IF
(DelayJnventory rate_much(Stock18week)
=0.3915,Inventory_decision_1 Inventory_
decision_2)*Delay_inventory rate_much),
Delay_inventory_rate_much))

Delay Inventory rate_much(Stock4week) = DELAYPPL(Inventory Rate_much

(Stockdweek),21,0)

Delay Inventory_rate_much(Stock18week)= DELAYPPL(Inventory Rate_much
(Stock18week),21,0)

Inventory rate_much (Stockdweek) =
4



9

Inventory_rate_much (Stock18week) =

18
(1)

DelayJnventory rate_much(Stock4week) =

4

(1)

Delay inventory _rate_much(Stock18week)= ' "l

1

=
Inventory_ratelJittle(Stock4week) = IF((TIME>=19 AND TIME<=35) OR (TIME

>=78 AND TIME<=81),0.4815 UF(Delay_
harvest=1 (IF(DelayJnventory_rate_ much
(Stock4week)=0.4815,Inventory _ decision
1 Inventory_decision_2)*Delay_ inventory
_rate_much),Delay_inventory_rate_much))
Inventory rate_little(Stock18week) = IF((TIME>=19 AND TIME<=35) OR (TIME
>=78 AND TIME<=81),0.4815 ,IF(Delay_
harvest=1,(IF(Delay_inventory_rate_ much
(Stockl 8week)=0.3915,Inventory_ decision
L.Inventory_decision_2)*Delay_ inventory_
rate_much),Delay_inventory_rate_much))



Delay_Inventory_rateJittle(Stock4week) = DELAYPPL(Inventory_Ratelittle

(Stock4week),21,0)
Delay_ Inventory rate_little(Stock18week) = DELAYPPL(Inventory Rate little
(Stock18week),21,0)
Inventory rate_little(Stock4week) = 4
(1)
ventory rate_little(Stock18week) = 18
(1)
Delay_mventory rate_little(Stockdweek) = 4
(1)
Delay_inventory rate_little(Stock18week) = 18
(1)
Inventory_ratio(Stock4week) = IF(Harvest=1Inventory rate_much(Stock4week),
Inventory_rate_little(Stock4week))
Inventory ratio(Stock18week) = IF(Harvest=1,Inventory rate_much(Stockdweek),
Inventory rate_little(Stock18week))
Drying_ratio(Stockdweek) = 4
(1)
Drying_ratio(Stock18week) = 4

92
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| ventory to dryi g_ratio = IF(Flarvest=11(Delay_Inventory ratio_much
(Stock4week)-Inventory ratio(Stock4week))
*Drying_ratio(Stock4week))+((DelayJnventory
ratio_much(Stock18week)-Inventory ratio
(Stockl 8week))*Drying_ratio(Stock18week)),
((Delay_Inventory_ratiolittle(Stock4week)-
Inventory_ratio(Stock4week))*Drying_ratio
(Stockdweek))+((Delay_Inventory ratio_little
(Stockl 8week)-Inventory ratio(Stock18week))*
Drying_ratio(Stock18week)))
DelayJnventory ratio (Stockdweek) = DELAYPPL(Inventory ratio(Stockdweek)21,0)
Delay_inventory ratio (Stock18week) = DELAYPPL(Inventory jatio(Stock18week),21,0)
Delay_inventory ratio_much(Stock4week) = IF(Delay_harvest=1Delayjnventoryratio
(stock4week),Delay much(Stockdweek))
Delay_inventory ratio_much(Stock18week)= IF(Delay harvest=1,Delay Inventory ratio
(stockl 8week),Delay much(Stock18week))
Delay_inventory ratio_little(Stockdweek) = IF(Delay _harvest=2,Delay_Inventoryjrtio
(stockdweek),Delaylittle(Stock4week))
Delay_inventory ratio_little(Stock18week) = IF(Delay harvest=2 DelayJnventory ratio
(stockl 8week),Delaylittle(Stock18week))

Delay_much(Stock4week) = DELAYPPL(Delay_Inventory ratio_much
(Stock4week),21,0.4815)

Delay_much(Stock18week) = DELAYPPL(Delay_Inventory ratio_much
(Stockl 8week),21,0.3915)

Delay _little(Stock4week) = DELAYPPL(Delay_Inventory ratio_little
(Stockdweek),21,0.4815)

Delay_little(Stock18week) = DELAYPPL(Delay Inventory ratioJittle

(Stockl 8week),21,0.3915)



Inventory to_drying_ratio

(1)
Delay _inventory ratio (Stockdweek)
4
(1)
DelayJnventory ratio (Stockl 8week)
18
(1)
Delay inventory ratiojnuch(Stock4week) =
4
(1)
Delay inventory ratio_much(Stock18week)=
18
(1)
Delay _inventory ratio_little(Stock4week)
4
(1)
DelayJnventory ratio_little(Stock18week) =
18
(1)
Delay_much(Stock4week)
4
(1)
Delay_much(Stock18week)
18

94
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Delay_little(Stock4week) =

Delay_little(Stock18week)

18

34 (IvT)

18
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Differ_price_stock4week

22
4
4 ( 22 ) F FourMax
4

weekl 1 ( )
week?2 2 ( )
week3 3 ( )
weekd 4 ( )

4

Price decision stockdweek = DELAYPPL(Price 15 percent,3,0) WHEN FAweekl
BUT DELAYPPL (Price 15 percent,2,0) WHENF=week2
BUT DELAYPPL(Price 15 percent,1,0) WHEN
F=week3 BUT Price_15_percent WHEN F =week4

Max_price_stock4week = MAX(Price_decision_stock4week(week1),
Price_decision_stockdweek(week2),
Price_decision_stock4week(week3),
Price_decision_stock4week(week4))

inventory time_stockdweek = IF(Max_price_stockdweek=Price_decision_stock4week
(weekl),1,IF(Max_price_stockdweek=Price_decision_
stockdweek(week?2),2,IF(Max_price_stockdweek=
Price_ decision_stockdweek(week3),3,4)))

Differ price_stockdweek = Max_price_stockdweek-DELAYPPL(Price_15 percent,
4,0)
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Price_decision_stockdweek = 4
( )
Max_price_stockdweek = 4 ( )
Inventory time_stockdweek =
4 ()
Differ price_stockdweek =
4 ( )
2)
18

rie_stock18week

Decision4

23
18

18 20 E EighteenMax

18
weekl
week?2
week3
weekd
weekb
weeko
week?
week8
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week9

weekio
weekl 1
week12
weekl3
week14
weekl5
weekl6
week|7
weekl8

18

98

10 ( )
1 ( )
12 ( )
13 ( )
14 ( )
15 ( )
16 ( )
17 ( )
18 ( )

Price_decision_stock18week =DELAYPPL(Price_15 percent,17,0) WHEN Eweekl

Max_price_stock18week

BUT DELAYPPL(Price_15 percent,16,0) WHEN E=week2
BUT DELAYPPL(Price 15 percent,15,0)WHEN E=week3
BUT DELAYPPL(Price_15 percent,14,0)WHEN E=week4
BUT DELAYPPL(Price_15 percent,13,0)WHEN E=week5
BUT DELAYPPL (Price_15_percent, 12,0)WHEN E-week6
BUT DELAYPPL(Price 15 percent,11,0)WHEN E=week7
BUT DELAYPPL(Price_15 percent,10,0)WHEN E=week8
BUT DELAYPPL(Price_15 percent,9,0)WHEN E=week9

BUT DELAYPPL(Price_15 percent,8,0)WHEN E=week10
BUT DELAYPPL(Price 15 percent,7,0)WHEN E=week11
BUT DELAYPPL(Price 15 percent,6,0)WHEN E=week12
BUT DELAYPPL(Price 15 percent,5,0)WHEN E=week13
BUT DELAYPPL(Price 15 percent4,0)WHEN E=week14
BUT DELAYPPL(Price_15 percent,3,0)WHEN E=week15
BUT DELAYPPL(Price 15 percent,2,0)WHEN E=week16
BUT DELAYPPL(Price 15 percent,1,0)WHEN Eweekl7

BUT Price_15_percent WHEN E=week!8

= MAX(Price_decision_stock18week(week1),

Price_decision_stock18week(week?),
Price_decision_stock18week(week3),



Decision|

Decision2

Decision3

Price_decision_stock18week(weekd),
Price_decision_stock18week(week5),
Price_decision_stock18week(week®),
Price_decision_stock18week(week?),
Price_decision_stock18week(week8),
Price_decision_stock18week(week9),

Price_decision_stock18week(week10),
Price_decision_stock18week(week11),
Price_decision_stock18week(week12),
Price_decision_stock18week(week13),
Price_decision_stock18week(week14),
Price_decision_stock18week(week15),
Price_decision_stock18week(week16),
Price_decision_stock18week(week17),
Price_decision_stocklweek(week18))

99

= IF(Max_price_stock18week=Price_decision_stock18week
(weekl ), 1,IF(Max_price_stock18week=Price_decision_

stockl 8week(week?),2,IF(Max_price_stock18week=Price
_decision_stock18week(week3),3,IF(Max_price_stock18

week=Price_decision_ stockl 8week(weekd),4,0))))
=IF(Max_price_stock18week=Price_decision_stock18week
(week5),5,IF(Max_price_stock18week=Price_decision_

stockl 8week(week6),6, IF(Max_price_stock18week=Price

decision_stock18week(week7),7,IF(Max_price_stock18
week=Price_decision_ stockl8week(week8),8,0))))
=IF(Max_price_stock18week=Price_decision_stock18week
(week9),9,IF(Max_price_stock18week=Price_decision_
stockl 8week(week10),10,IF(Max_price_stock18week=
Price_decision_stock18week(week11),11,1F(Max_price_

stock18 week=Price_decision_ stock18week(week12),12,
|F(Max_price_stock18 week=Price_decision_ stockl 8week

(weekl 3),13,00)))
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Decisions = IF(Max_price_stock18week=Price_decision_stock18week
(weekl 4), 14, F(Max_price_stock18week=Price_decision_
stock18week(week15),15,IF(Max_price_stock18week=
Price_decision_stock18week(week16),16,IF(Max_price_
stock18 week=Price_decision_ stock18week(week17),17,
IF(Max_price_stock18 week=Price_decision_ stock18week
(weekl 8),18,00)))))

Inventory time_stock18week - IF(Decision1 <>0,Decisionl ,IF(Decision2<>0,Decision2, IF
(Decision3<>0, Decisions, Decisiond)))

Differ_price_stock18week = Max_price_stock18week-DELAYPPL(Price_15 percent, 18,0)

Price_decision_stock18week = 18
( )
Max_price_stock18week = 18 ( )
Decisionl =
18 1
V)79
Decision2 =
18 2
(2
Decisions =
18 3
()
Decision4 =
18 4
()

Inventory_time_stock18week =

Differ_price_stock18week =
18 ( )



35 (Silo)

35.1 1

Group2_part1 _dweek

Group2_part1 _18_week

Drying_for_sale

Group2_part2_4week

Drying_Rate

Drying_for_inventory

Group2_part2_18_week

24 1
24

101
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Input_paddy drying = Drying_for_sale+ Dryingjor inventory

Drying_for sale = Groupl+Group2_partl 4week+Group2_partl 18week
Dryingjorjnventory = Group2_part2_4week+ Group2_part2_18week
Groupl =0

Group2_partl 4dweek =0

Group2_partl 18week= 0

Group2_part2_4dweek =0

Group2_part2_18week= 0

Input_paddy drying =

Cr )
Drying_for sale =
()
Dryingjorjnventory =
()
Groupl =
Paddy_drying(Groupl) 3
Main ()
Group2_partl 4week =
4
Paddy_drying(Stock4week) 3
Main( )
Group2_partl_18week=
18
Paddy drying(Stock18week) 3
Main( )
Group2__part2 4dweek =
4 Part_2(Stock4week)
3 Main ()
Group2_part2_18week=
18 Part_2(Stock18week)

3 Main ()
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DR-6L
30 210

Output_paddy drying = IF(Input_paddy drying+Dryer<=Drying_rate,
Input_paddy drying +Dryer Drying_rate)

Drying_rate =210
Output_paddy drying =
(1)
Drying_rate = (7 )

Dryer +dt*Input_paddy drying - dt*output_paddy_drying

Dryer
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35.2 2

Output_invertory_4_week

: 5
%
Input_inventory_18_week Q Silo

Input_paddy_silo output_paddy_silo

Delay_time_18_wveek

25 2

25
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Input_paddy silo = Inputdnventory_4 week+Inputinventory 18 week

Input_inventory 4 week =0
Input_inventory 18 week=0
Input_padady silo =

Input_inventory 4 week =

Input_inventory 18 week=

)
4
Inventory time_stock4week
FourMax F
Weekl 1
Week? 2
Week3 3
Week4 4

Cr )

4
Inventory_paddy(Stockdweek)
Main ()
18
Inventory_paddy(Stock18week)
Main ()

Invt

Invt

Output_inventory 4 week = Output 4 week(Week1 )+Output 4 week(Week2)+
Output_4 week(Week3)+Output_4 week(Weekd)
Output_4 week(week?) = IF(Delay time 4 week(Week1)=1 .Delay input 4 week

(Weekl),0)
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Output_4 week(week?2) = |F(Delay time_4 week(Week2)=2,Delaydnput 4 week
(Week2),0)

Output 4 week(week3) = |F(Delay time 4 week(Week3)=3,Delay_input_4 week
(Week3),0)

Output_4 week(weekd) = |F(Delay_time_4 week(Week4)=4,Delay input 4 week
(Week4),0)

Delay input 4 week(weekl) = DELAYPPL(Inputinventory 4 week,1,0
Delay input 4 week(week2) = DELAYPPL(Inputdnventory 4 week,2,0
Delay input_4 week(week3) = DELAYPPL(Input_inventory 4 week,3,0
Delay input_4 week(week4) = DELAYPPL(Inputinventory 4 week,4,0
Delay time_4 week(week1) = DELAYPPL(Inventory time 4 week,1,0)
Delay time_4 week(week2) = DELAYPPL(Inventory time 4 week,2,0)
Delay time_4 week(week3) = DELAYPPL(Inventory time 4 week,3,0)
Delay time_4 week(week4) = DELAYPPL(Inventory time 4 week,4,0)

)
)
)
)

Inventory_time_4 week -0
Output_inventory 4 week = A
()

Output_4 week(week?) =

L ()
Output_4_week(week2) =

2 ()
Output_4_week(week3) £

3 ()
Output_4_week(week4) =

4 ()

Delay_input 4 week(week?)
Delay input 4 week(week2)
Delay_input_4 week(week3)
Delay_input_4 week(week4)
Delay time 4 week(weekl
Delay time_4 week(week?
Delay time_4 week(week3
Delay time 4 week(week4
Inventory_time 4 week

11 11 11 I
= o D e
—_—~ —~ —~

)
)
)
)

11 11

S W N e
e s e )
N N N’ S
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18
Inventory time_ stock4week , Invt ( )

18
18
Inventory time_stock18week
EighteenMax E

Weekl 1 Weekl 0 10
Week? 2 Weekl 1 il
Week3 3 Week| 2 12
Weekd 4 Weekl 3 13
Week5 5 Weekl 4 14
Week6 6 Weekl 5 15
Week7 1 Weekl 6 16
Week8 8 Weekl 7 17
Week9 9 Week| 8 18

Output_inventory 18 week = Output 18 week(Week1 )+Output 18 week(Week2)+
Output_18 week(Week3)+Output 18 week(Weekd)+
Output 18 week(Week5)+Output 18 week(Week6)+
Output_18 week(Week7)+Output_18 week(Week8)+
Output_18 week(Week9)+Output 18 week(Week10)+
Output_18 week(Week11)+Output_18 week(Week12)+
Output_18 week(Week13)+Qutput_18 week(Week14)+
Output_18 week(Week15)+QOutput 18 week(Week16)+
Output_18 week(Week17)+Output 18 week(Week18)

Output_18 week(weekl) = 1F(Delay time 18 week(Week1)=1,Delay input 18 week
( eekl),0)

Output_18 week(week2) = IF(Delay time_18 week(Week2)=2,Delaynput_18 week
(Week2),0)

Output_18 week(week3) = |F(Delay_time_18 week(Week3)=3,Delay input 18 week
(Week3),0)



Output_18 week(weekd)
Output_18 week(week5)
Output_18 week(weeke)
Output_18 week(week7)
Output_18 week(week8)
Output_18 week(week9)
Output_18 week(week10)
Output_18 week(week11)
Output_18 week(week12)
Output_18 week(week13)
Output_18 week(week14)
Output_18 week(week15)
Output_18 week(week16)
Output_18 week(week17)

Output_18 week(week18)

Delay input 18 week(weekl
Delay input 18 week(week2
Delay input 18 week(week3
Delay input 18 week(week4

108

IF(Delay_time 18 week(Week4)=4,Delay input 18 eek
(Weekd),0)

IF(Delay _time_18 week(Week5)=5,DelayJnpuM8_week
(Weeks),0)

IF(Delay time 18 week(Week6)=6,Delay input 18 week
(Weeke),0)

IF(Delay_time 18 week(Week7)=7,Delay input 18 week
(Week7),0)

IF(Delay time 18 week(Week8)=8,Delay input 18 week
(Weeks),0)
IF(Delay_time 18 week(Week9)=9,Delay input 18 eek
(Week9),0)

IF(Delay time 18 week(Week10)=10,

Delay input 18 week(Week10),0)
IF(Delay_time 18 week(Week11)=111

Delay_input_18 week(Week11),0)

IF(Delay_time_18 week(Week12)=12,

Delay input 18 week(Week12),0)

IF(Delay time 18 week(Week13)=13,

Delay input 18 eek(Week13),0)

IF(Delay time_18 week(Week14)=14,

Delay _input_18 week(Week14),0)

IF(Delay time_18 week(Week15)=15,

DelayJnpuM 8 week(Week15),0)

IF(Delay_time_18 week(Week16)=16,

Delay_input_18 week(Week16),0)

IF(Delay_time_18 week(Week17)=17,

Delay_input_18 week(Week17),0)

IF(Delay_time_18 week(Week18)=18,

Delay _input_18 week(Week18),0)
DELAYPPL(Input_inventory 18 week,1,0)
DELAYPPL(Inputdnventory 18 week,2,0)
DELAYPPL(Input_inventory 18 week,3,0)
DELAYPPL(Input_inventory 18 week,4,0)

—_—

—_



Delay _input_18 week(week5) = DELAYPPL(Inputinventory 18 week,5,0)
DelayJnpuM8 week(week6) = DELAYPPL(Input_inventory 18 week,6,0)
Delay input_18 week(week7) = DELAYPPL(Inputinventory 18 week,7,0)
DelayJnpuM 8_week(week8) = DELAYPPL (InputJnventory 18 week,8,0)
Delay _input_18 week(week9) = DELAYPPL(Input_inventory 18 week,9,0)
DelayJnpuM8_week(week10)= DELAYPPL(Inputinventory 18 week, 10,0
Delayjnput_18 week(week11
DelaydnpuM 8 week(week12
DelayJnpuM 8_week(week13
DelayJnpuM 8 week(week14

)

)

(week13)

(week14)

DelayJnpuM 8 week(week15)
(week16)

)

)

DELAYPPL(Inputdnventory 18 week,11,0
DELAYPPL (Inputinventory 18 week, 12,0
DELAYPPL (Inputinventory 18 week,13,0
DELAYPPL (Inputinventory 18 eek,14,0

DelaydnpuM 8 week(week16)= DELAYPPL(Inputinventory 18 eek,16,0
Delayjnput_18 week(week17)= DELAYPPL(Inputdnventory 18 week,17,0
DelayJnpuM 8 week(week18)= DELAYPPL(Inputdnventory 18 week,18,0
Delayjime_18 week(weekl) = DELAYPPL(InventoryJime 18 week,1,0)
Delayjime_18 week(week2) = DELAYPPL(InventoryJime 18 week.2,0)
DelayJime_18 week(week3) = DELAYPPL(InventoryJime 18 week,3,0)
DelayJime_18 week(week4) = DELAYPPL(InventoryJime 18 week,4,0)
Delayjime_18 week(week5) = DELAYPPL(Inventorylime 18 week,5,0)
DelayJime_18 week(week6) = DELAYPPL(InventoryJime 18 week,6,0)
) )
) )
) )
0

—_

(

DelayJime_18 week(week?
Delayjime_18 week(week8
DelayJime_18 week(week9

(
(
(
(
(
(
DELAYPPL(InventoryJime_18  eek,7,0
DELAYPPL (InventoryJime 18 week,8,0
(
(
(
(
(
(

DELAYPPL (InventoryJime 18 week,9,0
DELAYPPL(InventoryJime 18 week,10,0)

Delayjime_18 week(week10)

Delaylime 18 week(week11)

Delayjime_18 week(week12) )

Delay time 18 week(week13)= DELAYPPL(InventoryJime 18 week,13,0)

Delayjime_18 week(week14)= DELAYPPL(InventoryJime_18 week,14,0)

Delay time 18 week(week15)= DELAYPPL(InventoryJime 18 week, 15,0)
) )
) )
)= )

DELAYPPL(InventoryJime 18 week,11,0)
DELAYPPL (InventoryJime 18 week,12,0

Delayjime_18 week(week16)= DELAYPPL (InventoryJime_18 week, 16,0
DelayJime_18 week(week17)= DELAYPPL(InventoryJime 18 week, 17,0
DelayJime_18 week(week18)= DELAYPPL (InventoryJime_18 week,18,0
InventoryJime_18 week =0

Inputdnventory 18 week =0

)
)

)

( )

( )
DELAYPPL (Inputinventory 18 week,15,0)
( )

( )

)
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( tput_inventory 18 week = 18
()

OutpuM8_week(week?) =

. ()
OutpuM8_week(week2) =

2 ()
OutpuM8_week(week3) =

3 ()
Output_18_week(weekd) =

4 ()
Output_18_week(weeks) =

5 ()
Output_18_week(week6) =

6 ()
OutpuM8_week(week?) =

! ()
Output_18_week(week8) =

8 ()
Output_18 week(week9) £

) ()
OutpuM8_week(week10) =

10 ()
Output_18 week(weekll) =

11 ()
OutpuM8_week(week12) =

()
Output 18 week(week13) =

13 ()
OutpuM 8_week(week1d) =

14 ()

Output_18_week(weekld) =
15 ()
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OutpuM8 week(week16) =

16 ()
Output 18 week(weekl?) =

17 ()
Output 18 week(week18) =

18 ()
Delay_input_18 week(weekl) = 1 ()
Delay _input_18 week(week2) = 2 ()
Delay_input_18 week(week3) = 3 ()
Delayjnput_18 week(week4) = 4 ()
DelayJnput_18 week(weekb) = 5 ()
DelayJnpuM 8 week(week6) = 6 ()
Delay _input_18 week(week7) = 1 ()
Delay input_18 week(week8) = 8 ()
Delayjnput_18 week(week9) = 1 ()
Delay input_18 week(week10)= 10 ()
DelayJnpuM8_week(week11)= 1 ()
Delay_input_18 week(week12)= 12 ()
Delay_input_18 week(week13)= 13 ()
DelayJnpuM 8 week(week14)= 14 ()
DelayJnpuM8_week(week15)= 15 ()
DelayJnpuM8_week(week16)= 16 ()
DelayJnpuM8_week(week17)= 17 ()
DelayJnpuM8_week(week18)= 18 ()

DelayJime_18 week(weekl) =
DelayJime_18 week(week?2
Delay time_18 week(week3
DelayJime_18 week(weekd
DelayJime_18 week(week5
Delay time_18 week(week6
Delay time_18 week(week?
DelayJime_18 week(week8
DelayJime_18 week(week9
Delayjimejl8_week(week10)=

1
O 0O N o O &~ W PO e
P s e e s e e T N
S N S S e e S N S

)
)
)
)
)
)
)
)

—
o
—
N—



Delay time 18 week(week11)=
Delay time 18 week(week12)=
Delay time_18 week(week13)
Delay time_18 week(week14)
Delay time 18 week(week15)
Delay time 18 week(week16)
Delay time 18 week(week17)=
Delay time 18 week(week18)=
Inventory time 18 week =

18

Output_paddy silo

Output_paddy silo

Silo

Silo

Inventory_time_stock18week

+(t*Input_paddy silo - dt*Output_paddy silo

()

11
12
13
14
15
16
17
18

Invt (

=( tputinventory 4 week+ Output_inventory 18 week
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